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QUESTION 1

The SALES table has over one million rows. Statistics for the SALES table and its dependent objects are gathered by
the Oracle AutoTask task during a predefined maintenance window. 

Examine the query: 

Which two actions can improve the accuracy of cardinality estimates for this query? 

A. ensuring that histograms exist for the CUST_ID and PROD_ID columns 

B. setting the OPTOMIZER_DYNAMIC_SAMPLING parameter to 4 to augment the default standard statistics 

C. setting the FORCE parameter of the GATHER_*_STATS procedure to TRUE and gathering statistics for the SALES
table and its dependent objects 

D. gathering system statistics during peak workload time to augment the standard statistics 

Correct Answer: AD 

 

QUESTION 2

You are administering a database that supports multiple applications, which make dedicated connections to the
database instance by using different services. 

You execute the command to enable tracing of the ORCL1 service: 

Which two statements are true? (Choose two.) 

A. A single trace file is generated for all sessions mapped to the ORCL1 service. 

B. SQL trace is enabled for all modules and actions for sessions mapped to the ORCL1 service. 

C. A SQL trace file is generated for each session that maps to the ORCL1 service. 

D. A SQL trace file is generated for each of the modules using the ORCL1 service. 

E. SQL trace is not enabled for the service because a module name is not specified. 

Correct Answer: AC 
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QUESTION 3

Examine the parameters set for a database instance: The database supports a mixed workload. Users complain about
the increased response time of a few DSS queries. During investigation, you execute the query: 

Based on the output, which two are possible ways to improve the performance of the queries? (Choose two.) 

A. Enable temporary undo. 

B. Enable Automatic Memory Management. 

C. Increase the number of DBWn processes. 

D. Enable Automatic Shared Memory Management. 

E. Increase the value of the SGA_TARGET parameter. 

F. Increase the value of the PGA_AGGREGATE_TARGET parameter. 

Correct Answer: CE 

 

QUESTION 4

Which two statements are true about the interpretation of Buffer Cache Hit Ratio in the Instance Efficiency Percentages
section of an AWR report? (Choose two.) 

A. A high value indicates that the buffer cache is adequately sized for the current workload. 

B. Poor hit ratios indicate that a large number of indexed lookups or small table scans are being performed. 

C. A low hit ratio does not necessarily imply that increasing the size of the buffer cache will improve performance. 
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D. A high hit ratio may indicate that repeated scanning of the same large table or index is being performed. 

E. A low hit ratio indicates that a KEEP buffer pool should be configured based on the size of the largest object
accessed in the buffer cache. 

Correct Answer: CE 

 

QUESTION 5

Your database supports a mixed workload. In an application, multiple complex queries with functions and expressions
are executing. You want to analyze the queries that are currently cached in the library cache to receive
recommendations about the usage of indexes and materialized views. 

What should you do to achieve this? (Choose the best answer.) 

A. Create an STS for the queries cached in the library cache and submit it as an input to SQL Tuning Advisor. 

B. Create an STS for the queries cached in the library cache and submit it as an input to SQL Access Advisor. 

C. Capture the workload in an STS and submit to SQL Tuning Advisor for recommendations. 

D. Create an STS for the queries cached in the library cache and submit it as an input to SQL Performance Analyzer. 

Correct Answer: D 
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